MASTER OF BUSINESS ADMINISTRATION

A.General English/ Verbal Ability

Directions (Q. 1 - 5): in the following questions, the first and the last parts of the sentence are
numbered 1 and 6. The rest of the sentence is split into four parts named, P, Q, R and S. These
four parts are not given in their proper order. Read the parts, arrange them properly and find
out wlnch of the five combinations given below is appraprmte, and mark u‘ as yaur answer.

1. 1. Inspite of their proven functlonal superlonty,

and the common public that

are gaining ground, which are generating

P

Q.

R, ]ately a few misconceptions

S, - a feeling among the decision-makers
6.

plastics are harmful and should not be used.

 A)PQRS B) QRSP ~ C) RSPQ D) RQSP

There is nothing special

e

who are unfortunately treated -
only for their disappointed fans but also
about the indictment of players-

like heroes-turned-villains not -

L )

for the growth of the game.

“AHQSPR " B).RPSQ ., ... C) PRQS' . ... D),SQPR . -

—
.

3.:: k- The Indian political system

‘ ‘that we need to wait for
.is hugely. ﬂawed but

i 1t is no argument to say

" amore perfect system =

before we can talk reform Lliasd -

= A) -I.) QRS -_ __B)_ QRPS ey REGR D) SRQP i
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4 1. when markets determine prices as they do
P. need not neceséarily mean

prices can and will turn soft

_higher income for farmers because

now for most crops, higher output

o v RO

once traders believe the crop will be large.
A) SPRQ . B) PSQR C) RSPQ D) QRPS
5. . IfIndiaisto alleviatg its poverty, | |
P. our e'mphas.is should be on _ S ' T
Q. pivoial role in the world |
“R. education and nurturing talent
P, I becﬁme prosperous and play a
6. quantita'ti_vel-y and qualitaﬁve‘ly.

A) PSQR B) RPSQ ©) SQPR . D). QSPR " -

Directions (Q. 6- 15): Read the following passage cérefully and answer the questions given
" below it. Certain words are given in bold to help you locate them while answering some of the

questions.

For much of the Cold War era, India enjoyed a strong military and strategic relationship with the
~ erstwhile Soviet Union. A relationship which stood the country in good stead on a.number of
" pecasions, most notably during the Bangladesh war of 1971. So, while it’s true that no two countries -
*inthe world, the big ones even less so, share identical interests, this necessary divergence, by itself,
does not preclude the possibility of a strategic alliance Indeed, as the US-Israel relationship has .
repcatedly shown, a strategic tie- up can quite casily live with, even thrive on, occasional friction
and strife. In other words, the question whether there can be a three-way strategic axis — involving '
- India, Isracl and _the’ US — cannot be dismissed out of hand. At the very least, there ‘does exista
- strong basis for such a relationship to evolve and endure. ' U S DhE T

- Call it jehad, Il_.'_uh_d;\inenthlism_ or plain nihilist violence, but India, Iscac] and the US aré.-mdtiv the =

T s -(-‘_') ARy YE R _(-'(-.'rm!imrg.*d)-
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three leading targets of terror in the world and will remain so in the foreseeable future, And, while
New Delhi can legitimately complain about how terrorist strikes against it have been delibcrate'iy

~ downplayed in Washington and Jerusalem, it’s only a matter of time before these residual differences
of perception — the legacy of a different historical epoch — are ironed out. Witness the remarkable
turnaround, post-9/11, in the American stand on the so-called ‘freedom struggle’ being waged against
India in Kashmir. As for Israel, it has always been keen on a close, long-term relationship with
India. The reason that the two countries have stayed apart has to do with a misguided reluctance on
the part of India’s leadership to do business with the Zionist state: During Nehru’s time, in the
belief that international realpolitik can be conducted on the basis of simple moral precepts. And,
after Nehru, in the per-ception that global geopolitics is a zero-sum game: A close bond with Israel
must necessarily come at the expense of the larger Muslim world. Clearly, the sooner we give up '
this romantic naivete, the better it will be not just for India but for the larger democratic world,
including Israel and the US. ' '

| 6. What is the main basis for a three-way strategic axis involving India, Israel and the US?

A) All of these coﬁntries have democratic rule.

B) All of these countries have been the main targets of terrorism.
C) All of these countries have fought terrorism effectively.
D) Allof these countries aré envied by the Islamic world. O : il

7. The idea that no two countries in the world, the big ones even less so, share identical interest
has been negated by ' : ;

A) Indo-Israel relationship - 'B) Indo-Bangladesh bond
- C). Israe.]-America' connection. .. ' ‘D) US-USSR ‘hostility - * e
8. Which of the following is true in context of the passagé? YRR P

‘A) Israel is a Zionist state.

" B) Indiahas always longed foramity with Tsrael. * *

. 32 Il 500
SR et I','-..i_'.'i_ -“:]" ".-.r'l;. SR g

© ) The US is a Zionist nation.

“ D) The US has always appreciated India’s move on dealing with terrorism. .
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9.-.' 4

What_'do you mean by the expression ‘stood the country in good stead?

A) lifted the country to a big place

' B) gave the courl_try a prestigious name

C) gave the country due recognition

10.

11.

L1,

- ‘D) helped the country in need

Which of the following is most opposite in meaning of the word ‘identical’ as used in the

passage?
"A) futile B) intense C) unlike . D) strategic

Which of the followmg 1s most nearly the same 1n meamng as the word preclude as used in
.the passage? -
| A) deviafe B) blur C) complex D) prevent

Which of the following 15 false in the context of the passage‘?_. .

A) Amencan view on the so-called “freedom struggle’ being waged. agamst India in Kashmlr _

is still against our country. s . L P M NPT

B) Israel has always longed for amity with India
' 5 C) Indla mamtamed a comfortable relatlonshlp w1th USSR: durmg the CQId War era;

-'D) US Israel relatmnshlp has been there for long o O T %

Scanhed' by 'Ca'rhSCah'nérﬂ
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13. It |s often believed that India’s forining close reiations with Isracl
A) may please the US
B) - may prove dangeroﬁs for any other front
C) may irk _the Islamic nations

" D) ‘may prove detrimental for our neighours

14. What has kept away India and Israel from coining ¢ to each other for long?
A)- Israel has never taken seriously the terrorist strike India.
B) Both the countries have different perception on rorism.
IC) :Isra'el is a Zionist state, whereas India is a sea nation
D) None of these
15. Which of the following is most nea_rl'} the same in meaning as the word ‘thri.v'e’ aé used in the
passage?
A) consist 1 M B)' gr'gfw - R ¢ “rely s | D) .‘S‘lilrvi\lle.i
Directions (Q.16-20) Each question below has two blanks, each blank indicating that sbmething

has been omitted. Choose the set of words for each blank that best fits the meaning of the
sentence as a whole. . - o .

16. The National l(.'xiowledge Commission has said that India will have to bring.'..,...........-..‘ ...... in .
education if it has to emerge as the MOS{.cvvviersesercsnennnni . WOTk force of the world.
: ' : Wi o e I Y
A) changés, biggest _ : T A S L
it © ﬂ”e".,i‘?‘"i"“s_ skilful : [ D) quality, brighter :
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17. Norway has stolen a march over other developed countrles L ety t it b 2030,
40% of its greenhouse gas erhissions by 2020 and s - o carbon neutral by
A) allowing, turn ‘ B) posing, grew
C) estimating, exist D) ' déclaring, become

18. A controversial plan to build an immense dam in Brazil’s rainforest was stalled when

alike.
~ A) resulted, hostilities -~~~ ' B) géined,' supboﬂéré
‘ C) attracted, opponents ~ D) lead, protesters_ '
19. According to a recent survey, sales ﬁgures of high end cars have seenan................ growth in the
past year which shows that Indian consumers have..................... e the 1mpact of recession.
A) unprecedented, negated B) unbelievable, suffered
C) unnsual, wnreened . s et s D) }_i_ns:igniﬁcant_, endured__lf_

20. According to the language experts children should begin talking in their mother tongue rather

than a foreign language which can............................... affect their comprehensron abilities lead-
ing to serious language o2 E— SN Jlater in their hves
A)'eigniﬁcanrly,- abi]i.ties it I'__"B)"“'appfoﬁﬁa'fely; aﬁ;ﬁieveiﬁgﬁé’“{j" e O &

C) severely, advantages D)._ adversely, problems
" B.General Knowledge
- ._21. The chief constituent of gober ges is
 Ayethne .. B) methme O hydogen D) carbondioxide

BB T L htmed ) L
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22. 1.B. Dunlop is popular for which of the following inventions?
| A) Model airpl.anes 5 " B) Pneumatic rubber tire
: C) Rubber boot D) Automobile wheel rim
. 23. When was telephone invented?
E ' _ . ors
A) 1870s B) 1880s C) 1850s . D) 1860s

24. The countries that hﬁd maintained research stations in Antarctica ur}dt*;r Aptarctic Trade are
A) Argentina, Australia, Belgium and South Africa |

E B) Chili, France and Japan _ |

C) New Zealand, Norway, the former USSR, the UK and the USA

D) Alloftheabove . ‘

2. The first development ﬂiglht of SL-V'-B' took place on
A) May 31,1981 : B) Apnl 17, 1983 oL
C) December 21,1999 -~ 'D) Deccmber 28 1995 S . -

26. The Enron project isa -
A) hydro-electric project . B) thermal power project

C). atomic power project». . ., -+ D) gas-fired power project: "

27;_T11e chief purpose of crop rotation is to check the loss of top soil -

B A) by water erosmn ' ot _ B) by wmd eros:on

4
g
B
B

C) by weathermg D) of its mmeral conlent
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'.2_8.' .World.‘s busiest airports by passenger traﬁ}c is
. A) Hz;nsﬁeld-lackson Atlanta International Airport, USA
B) Lhasa Airport, Tibet
C) King Abdul Aziz International Airport; Saudi Arabia

D) Chicago O’ Hare International Airpert, USA

29. The first meeting of the UN General Assembly was held in which 6f the following C_it_ie_S? 4
" A) London’ B) New York C) -San F_ranciscé D). Teheran
30. The first rice straw power plan‘l- has been set up at

A) Kolkata B) Jalkheri, Punjab

C) Trombay, Maharashtra D) None of the above
31. The founder member of EFTA are

' A) Austria, Denmark, Norway B) Portugal, Sweden, Switzerland,

/G) UKI, Austr"fa; Sweden _ D) All of the above

-32. The first historical mention of the holding of the ancient Olympic Games 0Ccﬁned about

~A) 2000 years ago B) 2250 years ago ‘ C) 2500 yearsago D) 2775 yeérs ago

33. T_he first Afro-Asian Games were held in
. 'A) Hyderabad _ B) Sydney . ~ C) Cairo = ._b)"Kug,laLumL ! s

(8) Ao iy (Commued)

E— ]
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34. The first rﬁecting of the SAARC was opened in

A) Dhaka, Bangladesh B) Bangalore, India
C) K.a'lthmandu, Nepal R , D) .Islamabad, Pakistan
35, The element of an electric stove made
A) copper B) invar C) magnalium - D) nicrome

-36. The blood press'u're_ of a young male human being is

~A) 110/70 B) 120/80 'C)  135/90 . D) 140/100

37. The first Winter Olympib Games wére held at
A) Innsburck (Austria) P B) Lake Placid (USA)

" C) Chamonix (France) " D) Calgary (Alberta)

38. The college of Military Engineering is situated y
A) Kirkee (Pune)- . 'B) Mhow
C) Dehradun N e
-39. The ellect_rtk)n"was:‘.ﬁr-si fd'ehﬁﬁéd'bﬁr“' § Mg

A) J.J.Thompson B) J.Kepler .- .. C) D.Rutherford D) JamesChadwick -
; 40. The ﬁqnscrv_a;iori_ hawks and owls is.im_gprtént to manklnd chiefly because these b.ifds._f:““ e s :
'- A) numerous weed seeds T B) hanHfUlbxrds : .

. C) manyharmfulrodents . . D) hamfulreptiles
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B.Quantitative Abilig;’

41. TheHCFofl?S 56and715 -
- _ : , D) 0.35
CA) 0.07 B) 0.7 0 35 )
42. The L.C.M. of 3,2.7 and 0.09 is : _ ,
A) 2.7 B) 027 ey oo ol D) 2T

43.

- 4d.

L4

46

If the mean of a, b, ¢ is M and ab +be+ca= 0 then the mean of a2, b2 c2i is ;

A) M2 _ B) 3M? C) 6M2 D) 9M’ :

The average of first 50 natural numbers is :

A) 1225 B) 2125  © 25 D) 255

In how many dlfferent ways can the Ielters of the word 'CORPORATION' be arranged so that
the vowels always come together‘?

ANEIO AT B) MR C) R0 L A st o

The ratto of| present ag,es of two brothers is'1:2 and’ 5 years back the ratlo was l 3 What wﬂl

s bc the ratto of thctr ages after 5 years 7 A

ek el fvet i) tud 34 SRS oy ----:I-.:'-f:'; ..

e  (Continued)
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47.  Ifa—b=3and a*+ b =29 find the value of ab

A) 10 B) 12 B C) 15 D) 18

48.. 270 candidates appeared for an examination, of which 252 passed. The pass percentage is : -

A) 80%  B) 8% Q) 90%% D) 93%%

49. 5 out of 2250parts of earth is sulphur. What is the percentage of s&ilphur in earth ?

b i e A TN Ml PR
)5_0 )9 ' | _)45,' ‘-)45.

Bl—= w0

50. '0-.0Il is what percent of 0.17
£ : i

. 1 o '
==t C 10 ; - D) 100
100 B) . _) D)

_A) 0

'51. What percent of a day is 3 hours ? .

A% B10% s s Oaw s D g

I

. .52, Asum o_f Rs. 1360 has been divi_dc’d among A, B and C such that 4 gets 7 of what B gets and - g
R '_"':-" '. i I 1 . p : ‘.rr A ! : e ._ : i S e S Ve aprevimae ol a5 LSRR AR T
o B gets = of what C gets B's share is:

'*'-_.‘?*A) Rs 120 B) Rs 160 C) Rs. 240 f D) Rs 300, 1A

( i_'-'ll'.;'_)."‘-:";r'.'."._-. : ..‘. Sl ( Tum Ove? ) ;.j.'
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53. When a commodity is sold for Rs. 34, 80, there is a Toss of 2%. What is the cost price of the :
commodlty ?

A) Rs.2610  B) Rs. 43 C) Rs43.20 D) Rs.46.40

54,

A shopkeeper expects a gain of 22 % on his cost price. If in a' week, his sale was of Rs. 392
what was his profit ? %

A) Rs.1820.  'B) Rs.70

) ‘Rs. 72 ' ‘D) Rs. 88.25.
5S. What will be the difference between simple and compound interest @ 10% per annum on a

sum of Rs. 1000 after 4 years ? ' '

A) Rs.31 B) Rs.32.10 C) Rs.40.40 D) Rs.64.10 -
I 56. The dif‘fcrenc_e between simple interest and compound interest on Rs. 1200 for one year at 10%
1 : per annum reckoned half-yearly is : : ' 2 : X

A) Rs.250  B) Rs.3 © C) Rs.3.75 'D) Rs.4

“87.°

g : An amount of money is to be distributed among P, Q and R in the ratio of 5:8:12 respcctwely
i H f If the total share of Q and R is four times that of P, what is deﬁmtely P's share?

' A) Rs3000  B) Rs.5000 C) Rs8000 - D)’ "Dats’ madequatc .-
o . .58, A bag contains.'rup'e‘e, 50-paise and 25-

( -palse coins m the ‘ratio -5:6 ? If the total amount is
Rs.390, find the number of 25

-patse coins.

A)280 B) 200 © 0 D) 260

EEa B A man spends Rs 8100 in buymg tables at Rs. 1200 each and chalrs at

Rs 300 each The rano of
: 'chalrs to tables when the maximum number of tables is: purchased,is.,

. (-'(";b',,_,',-mt??{)v |
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' 60. Two cars Aand B are running towards each other from two different places 88 km apart..If the
ratio of the speeds of the cars A and B is 5:6 and lhe speed of the car B is 90 km per hour, after

how long will the two meet each other’?’

A) 26 minutes B) 24 minutes C)

C.Data Interpretation

. 32 minutes

D) 36 minutes

Directions(Q.61-65): Study the following informa-tion to answer the given questions.-

Percentage of population interested in different sports (Crlcket, Football, demmton Tennis,
Volleyball, Hockey) in pie chart I and Percentagc of females interested in these sports in ple

chart IT
_Total Populatlon 48 lakh

The ratio Qf Males to Females = 5:3

Football,
15% .

Badminton
Tehnis, :
13%

Volleyball,
11%

Faotball,
8% . Hockey,

_Ba&mi'pto i
" 012% 4

]

‘_Vollevba".
2%

*|® cricket

.|0Tennis
B Badminton | .

[0 Hockey

OVolleyball

O Football

| & Hockey
M Cricket

|8 Volleybalt _
i El-fl'e_l;ln‘ls-. R Eh vt i,

I_Badminion

. |EFootbali -

ot
et

et Ny AR,
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| . . key together to tha
61. What is the ratio of the number of people ‘interested in Tennis and HOC y g _

mterested 1n Crlcket and Vol]eyball together” |

A) 2332 B) 3443 © 1% D) 1:1_.3;

62. For which of the sports, the percentage, of population interested with respect to thf.‘t of ferealee
interested is minimum? ' ' '

~A) Cricket ~  ‘B) Badminton =~ 'C) Temiis =~ D) Noneofthese

63. What is the difference between the number of females mterested in badminton and that in
‘Volleyball? : -

A) 1.5lakh ~ B) 22lakh C) 18lakh .- ueoD)d.90akh™: 5

. 64. For which of the sports, the nqe}ber..ef males ilnfé.res'tled is less than t_het of females interested?
| A) Tennis, Volleyball ke ' Pt LB 1

IB) Volleyball, Badminto.n ' |

'.C) Badinint?m, Tennis, Hoei:eyl

‘D) Badminton, Tennis, Volleyball

65. _What is the rano of the number of males mterested in Badm;nton | & |
e and F
of females interested in Hockey -and Tenn:s together‘? Ootbajl logethcr to that :.

..v,r,.,

-ﬁ). 124117 B). 1281}9 " c) 1917

-

( Cammued )
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Duirvetions (QLe0-T0% Study the following table to answer the given questions,

‘“\\}\.\ |\ \I\

(®) fon of ditterent brands o' cold drinks (lakh bottlex day) statewise
g Cold Dirinks ~ ——T
; State Coke Pepsi Thumas Up | Limea Mirinda
Andha Pradosh » A s | | e -
Dellu TN 32 Al 124 'MM';TT"‘M?”
Maharashtma 28 38.2 20 | Q.:J" 1 7 ‘: LT
Bihar pX | 335 102 0,32 l;l..‘!-t‘
Rajasthan 16.7 42,6 303 .32 32
Gujarat 342 273 0,19 17.30 843
Uttar Pradesh 193 17.6 204 238 1.3

66. W hat is the percentage of Coke consumed in M.\h‘m\shlm with respect to the tmul consumption
~of cold drinks of difterent brands in Gujarat?

A) 26.3% B) 23.6% C) 32.6% I)) 32.3%

67. Qut of the total consumption of cold drinks per day in Bihar, what is the pt.rt:cntugc (up to two
digits after decimal) of consumption of Limea per day?

A) 1510 'B) 11.05 C) 10.15 D) 1021

68. In which state is the percentage of consumption of Pepsi per day with respect to the total
consumption of different cold drinks of the state the maximum?

(3

A) Mahnrashtm B) Ra_;ustlmn .C) And_hrd :Pradesh,_. D) 'Noﬁe ol‘thesc

69 What is the appmwnutc percentage of consumpnun of Thurus Up per day'in anas,th'm wnh _
s mspect to the total consumpuon o!‘Thums Up pt.r day in all stntea" i

m 24%5 C) 26% m 05**0‘*;
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rinda, what is the percentage- of consumption o :

70. If Delhites prefer cock-tail of Pepsi and 1A sumption of the rest of the cold drinks in Delhiy

" Delhites cock-tail with respect to the {otal con

- s D) s
A) 61% B) 72% 0 6% D) 57%

Directions (Q 71- 75) Study the following table carefully and answer the questions given
below it: ;- | '

~Area and POpulanon of different states

. States © Area (m sq kuometers) Population (in lakhs) ]
A B 6230 | 1122
‘B . | 2540 sl P, 838
Y 8135 . 649
D 7436 512
- E 4893 . ) T
F sng | 286
G 4297 — 1 860

- 71. Among the given states, in case of how many states the area ofithat state was more than 15 per
- cent of the total areas taken together?

A) Oné .. ;i ;iB) Three - .. .. C) Two ‘D) Can’tSay’

72 For whlch two states thc dens1ty of populatlon is apprommately -equal? - .

'.‘.‘_ -"'i:‘, Ve TELELT

A Nostate.__.' B) AandG C) DandF D) ‘Cand1.3- '

'13 Approxrmately how much more is the. densnty of. populatlon of stale B in compan scm to thar Of
- State AQ : . T i _:;,"_";';- ; i.".“.'-"'f b

S A)15000 "“-__I- B) .‘_.'1'800_()_ g o I.’."C) 13000 .[)) ‘-1400.0.'-'." oy
(16) R S i)
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74. In case of how many states the density of population was
kilometre?

A) Two -

B) Five

C) Three

D) Four

MBA

’ more than 12 thousand per square

75. What is the approximate ratio of the areas of state B to the areas of state A and G together?

A) 1:3.8

1.23.5

C)

* 5.2

D) l:4.1

Directions (Q. 76 - 80): Study the following table carefully and answer accordingly: -
The following table shows the percentage marks obtained by seven students in 6 different

subjects. | _
Total marks in each subject is within bracket.
Sub Maths Physics | Chemistry Biology | English Hindi
Student (100) (150) (125) (50) (75 [(100)
Rishi 60 80 63 70 _ _85 92
Anup 75 72 77 80 80 76
Soni _ 40 100 84 35 100 60
Gopal 100 65 90 68 90 70
Rahul 60 85 80 75 65 85
© Ankit 90 90 64 90 45 70
Radha 60 70 { 80 100- 50 80

76. How much total marks has Radha got in all subje:cts together?

. A) 4375

. B) 4275

C) 4257

7. How manf students have got 70% or more marks in all the subjects?

B

.' C)

D) i

. -D) None of these

N Scanned b_y CamSéanner
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ore lhan the marks |
78. Marks gained by Radha in Maths and Biology together is what per cent in , ]
gamed by Rishi in those two subjects?

gt 5.78%
" A) 1946% . B) 71.58% C) 17.58% D) .1 o

79. Tn which subject is the overall percentage the best?

A) Math B) Eng  C) Chem D) Phy

80. What is the average marks gained by all seven students in Biology? il

A) 3532 B) 35 C) 37.43 ~ . D) Noneofthese

. E.Test of Reasonihe-_

Dlrectmns (Q.81 -'85): Study the followmg nrrangement carefully and. .mswer the questions
glven below

B73GU£*FTL5916Q#MNJDCHLSWXR@IA47Z$VEY8

81 ‘Which of the followmg element is tenth to the nghl of the ninth element frorn the leﬁ end lf the ‘
- first- thlrty characters of'the above arrangement are reversed'? T

I ‘A) ‘-5- I T 'I e "B) - 9 ¢ . C) J_. s - D) ‘D e
82. What should come in place of the quesnon mark (‘?) in the series given below based on the
above arrangement’? s TR SRR Tr AT TR N
*SS AT 99H % b I:,(‘I Y MID 9 'RQ# Ay ;
AYHQN  B)aeN ol H6N g D) How

gL “8") (((mmmt’&f )

:S_can-r-led' by'CarhSc”:'éﬁnér



C) Two D)" Three

84. Four of the following five are alike iﬁ a

certain w
dqes not belong to that group? '

ay and so form a group. Which is the one that

A) #NDH w2 B) SX@A e T Gy 7$ES D) GEFL -

85. If every fifth character starting from U (delete'U first) is deleted, then which character will be

cxac-tly midway between the tenth element from the left and the same positioned element from
the right, in the newly obtained series? 3

A)d. | BY #aie s €) D D) &

Directions (Q. 86-90): Study the followin
given below: - :

g information carefully and answer the questions

"P,Q,R, S, T,Uand V are seven sportspersons associated with three clubs #1, #2 and #3. There
are three males and four females. There are at least one male and one female in each club. Three
of them are associated with only football and two each with only hockey and only cricket. U and
her sister S are associated with cricket. But these two persons are associated with different clubs.
R is associated with club #2 and he is not associated with the club(s) of either V or Q. P is not
associated with football. And he is the member of Club #3, only with U. All the persons - 5
‘associated with football are'not the members of the same club. T is fortu_ljate'bg:cause she and her -
friend S are associated with the same club. gt LA g B N0k

86. T is associated with which of the following games?
A) Hdckey .+ B) Football o ; T R
C) Cncket D)Eﬂher Hd'ckey-or-'-l?ootball_*:’ R I B A
87 '[fIR' is.as'sbciat@ wiih_ﬁockey then whiich of the following grc-i'ixps“fepi‘ésegtsztho.s'_c'é"‘ﬁéféoné who
are associated Wi;h'football?' g el T ' oo

Ciaves A v T 0 e iy oy
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88.

89.

90.
91.
"~ A) Er'c i B) Eve C) Ewe

: 92.

793,

) Thees b B Reie i SO e

‘How many pairs of letters are there in the word BOUGAINVILLE
 letters between them in the word one less' than the number of lette

[If one of the'clubs consists of members associate

d with a single game then which of the follow-
7 vt '
ing COrrectly represents the club and the game respectively?

~ A) Can’t be determined . - B) Club #1, Football -

C) Club #2, Cricket D) Club#l, Hockey
With which club are three of them associated? -

A) Club#l:i+ -+ B) Club#2 C) " Club #3 D) Can’t be dclerrpincd

B) None of these

Which of the following represents the three male persons of the group?

A) PRV B) PRQ C) PRVORPRQ D) Can’t be determined

Four of the following five are alike in a certain way and so form a group. Which is the one that

_does not belong to the group? -

" D) Ese .

By fuilowmg a certain loglc PLUMS is wrltten as USPML DRAWN 15 ertten as WRND A
How is SLUMP wrlttf;n in that logic? '

A) US_PML ' B) UPSML '-C)"MLP_SU' ol SD) LPMSY

A which have number of
alphabet" w B Ty & s between them'in English

7 “D) Noneofthése ©

G " (Continued)
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95.

- 96.

MBA
If it is possible to make 4 meaningful word
tenth letters of the word
ing will be the second |e

with the first, the second
PUSILLANIMOUS, using each letter only

tter of that word? [fno such word can be fo
be made give answer ‘y*

, the third, the fifth and the
once, which of the follow-

rmed give ‘X’ as the answer,

3 <7 : .And ifm
be made give ‘Z’ as the answer ore than two such words can

A) L  B) X 0 Y D)z

532155525759854375755582561

In the above sequence in some cases, the sum of the two digits which immediately precede

the digit *5” exceeds the sum of the two digits which immediately follow that digit. How
many such 5’s are there?

~A) Two B) 'l_"hree ..C)---Four D) Five

How many meaningful words can be formed by replacing only the consonants in the word
GOD by the next letter in the English alphabet and keepipg the vowels unchanged?

A) None B) One C) Two D) Three

97.

98.

Four of the following five are alike in a certain way and so form a group. Which is the one that

‘does not belong to the group?

A) 144 B) 1089 C) 245 D) 386

. i : y - . . - t
Four of the following five are alike in a certain way and so form a group. Whlch is the one tha

- does not belong to that group?

o e e ST L Oiolier
- A) January  B) March = C)-JUI}‘? Feskh )i s

: . (21) i (Tumover)
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99. _If‘ it is possible to make a number which is the perfect cube of a one-digit number \.:vith‘ the
second, the sixth and ninth digits of the number 92687102534, which of the following will
come at unit’s place of the square of that one-digit number? If more than one such one-digit

number exists give ‘3’ as your answer and if no such one-digit number exists give ‘7 as your
answer. ' '

I B4 . O 7 D) 3

100. ‘Mink’ is related to ‘Coat’ in the same way as ‘Mint’ is related to

A) Cooking ~ B) Pepper C) Coin D) Sweet

S o RCag0.
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